
Division of Large Numbers 

 

1. Divide by short-cut method. 

a. 435665 ÷ 100  = 

b. 96387 ÷ 1000  = 

c. 2436975 ÷ 10000 = 

d. 7980653 ÷ 100  = 

 

2. Divide and verify your answer. 

a. 364865 ÷ 57    b.  51693 ÷ 483 

c.  4175084 ÷ 516   d.  1886526 ÷ 627 

 

3. One truck carries 475 bags of sugar. How many trucks will be needed to carry 86450 

bags of sugar? 

 

 

 

4. What least number should be subtracted from 316579 to make it exactly divisible by 

375? 

 

 

  

Q R 



5. Product of two numbers is 316665. If one number is 155. Find the other number. 

 




